
364

Ref. No. 293-16-1999-APR 1/3QUICK MICROMETER
293Series(MDQ)

293シリーズ(MDQ)
クイックマイクロ

293
Ref. No. 293-16-1999-APR 1/3

QUICK MICROMETER
293Series(MDQ)

293シリーズ(MDQ)
クイックマイクロ 293

KEY

NO.
PART NAME CODE NO.  No.

No.

293-661

MDQ-30

293-666

MDQ-30M

293-676

MDQ-1.2"M

1

2

3

3-1

3-2

4

5

6

7

8

8-1

8-2

8-3

8-4

8-5

8-6

8-7

9

10

10-1

1

2

3

3-1

3-2

4

5

6

7

8

8-1

8-2

8-3

8-4

8-5

8-6

8-7

9

10

10-1

BUSH

PACKING

SPINDLE ASSY

SPINDLE

SCALE

SLIDER

BOLT

PARALLEL PIN

SETSCREW

DETECTOR ASSY

GRID ASSY

HOLDER PLATE,GIB

SPACER

SPRING

SPRING

SCREW

WASHER

SCREW

FEEDING UNIT ASSY

FEED NUT

Ass'y

Ass'y

Ass'y

Ass'y

MR1252

(M3x6) (M3x6)

(M2x2) (M2x2)

(M1.4x2) (M1.4x2)

(M1.7x3.5)

( 1.4)

(M1.7x3.5)

( 2x15) ( 2x15)

309269

309492

982745

309493

02ACA552

309271

304364

309288

309289

982746

982747

309496

309499

309497

309498

353335

353341

309290

982647

309279

293-661 No. N

CATEGORY

8-6

8-6

8-6

8-1

8-2
8-3

8-4

8-5

8-7

8-7

8-7

9 8

20
21

13

1811

16 17

2
1

16-2

16-1

17-1

17-2

101

3

3-1

3-2

6
4

7
5

12

10-1
10-4

10-5

10-3

10-2

10

14

14-1

14-3

14-2
12

15-10

15-9

15-6 15-8

15-7 15-5

15-4

15-3

15-2

15-115

19

22



365

KEY

NO.
PART NAME CODE NO.  No.

No.

10-2

10-3

10-4

10-5

11

12

13

14

14-1

14-2

14-3

15

15-1

15-2

15-3

15-4

10-2

10-3

10-4

10-5

11

12

13

14

14-1

14-2

14-3

15

15-1

15-2

15-3

15-4

Ass'y

Ass'y

Ass'y

Ass'y

Ass'y

THIMBLE

SPRING

SPRING, RATCHET

SCREW

ANVIL

PACKING Y

FRAME COVER ASSY

FRAME COVER ASSY

CAP ASSY

CAP

O-RING

FILTER

MODULE

MODULE

PANEL ASSY

PANEL ASSY

LCD PANEL

INTER CONNECTOR

RUBBER SWITCH

RUBBER SWITCH

(M1.4x1.4)

293-661

MDQ-30

293-666

MDQ-30M

293-676

MDQ-1.2"M

309280

309281

309282

309291

200355

309297

982705

309285

309286

309296

308908

308909

308906

982766

04GZA001

04GZA002

982703

982704

982757

982756

982711

982710

308905

CATEGORY

8-6

8-6

8-6

8-1

8-2
8-3

8-4

8-5

8-7

8-7

8-7

9 8

20
21

13

1811

16 17

2
1

16-2

16-1

17-1

17-2

101

3

3-1

3-2

6
4

7
5

12

10-1
10-4

10-5

10-3

10-2

10

14

14-1

14-3

14-2
12

15-10

15-9

15-6 15-8

15-7 15-5

15-4

15-3

15-2

15-115

19

22

Ref. No. 293-16-1999-APR 2/3QUICK MICROMETER
293Series(MDQ)

293シリーズ(MDQ)
クイックマイクロ

293
Ref. No. 293-16-1999-APR 2/3

QUICK MICROMETER
293Series(MDQ)

293シリーズ(MDQ)
クイックマイクロ 293



366

KEY

NO.
PART NAME

No.

15-5

15-6

15-7

15-8

15-9

15-10

16-1

16-2

17-1

17-2

16

17

18

19

20

21

22

101

15-5

15-6

15-7

15-8

15-9

15-10

16-1

16-2

17-1

17-2

16

17

18

19

20

21

22

101  1 m

2m

P.C.B.

MINUS CONTACT

PLUS CONTACT

BATTEY BOX

BT SCREW

BT SCREW

BATTERY LID ASSY

SEAL, BATTERY CAP

CAP, BATTERY BOX

CONNECTOR ASSY

CONNECTOR

CONNECTOR CAP

NUT

SCREW

SCREW

WASHER

BATTERY

SPC CABLE  1M

SPC CABLE  2M

HOUSING CASE

PAPER CASE

Ass'y

Ass'y

(1.6x7)

(1.6x3.8)

(M1.4x4.5)

(M1.4x2)

( 1.4)

CODE NO.  No.

293-661

MDQ-30

293-666

MDQ-30M

293-676

MDQ-1.2"M

982761

09GAA173

546807

308785

198598

198591

982444

308790

308791

525863

353335

353341

938882

937387

965013

475546

471688

981894

306194

306186

305910

CATEGORY

8-6

8-6

8-6

8-1

8-2
8-3

8-4

8-5

8-7

8-7

8-7

9 8

20
21

13

1811

16 17

2
1

16-2

16-1

17-1

17-2

101

3

3-1

3-2

6
4

7
5

12

10-1
10-4

10-5

10-3

10-2

10

14

14-1

14-3

14-2
12

15-10

15-9

15-6 15-8

15-7 15-5

15-4

15-3

15-2

15-115

19

22

Ref. No. 293-16-1999-APR 3/3QUICK MICROMETER
293Series(MDQ)

293シリーズ(MDQ)
クイックマイクロ

293
Ref. No. 293-16-1999-APR 3/3

QUICK MICROMETER
293Series(MDQ)

293シリーズ(MDQ)
クイックマイクロ 293


